1. You think that the perfect mix for chocolate milk is when the milk contains 42% chocolate. In the
refrigerator you have some chocolate milk that is 32% chocolate and some that is 48% chocolate.

Wirite and solve a system of equations to find the nymber of ounces of each of &ese s you mix
in order to get 50 ounces of your perfemure
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The graph of a linear inequality:
© A boundary line that is either dashed or solid.

© The SOLUTION REGION is all the points on one
side of the boundary line that make the inequality
true.



Which side of the line to shade for an inequality?

If inequality is in Slope-Intercept Form:

ocy>mx+b or y>mx+ b means to shade above the line.

If you say " y is greater" shade above the line.

oy<mx+b or y<mx+bmeans to shade below the line.

If you say "y is less" shade below the line.

Which side to shade?

If inequality is in Standard Form: Ax+ By =C

Pick any point NOT on the line and test it in the inequality.

o If It makes the inequality true shade the side with that point

o If it makes the inequality false shade the other side of the line.



2. Graph each inequality on the x-y plane. Shade the solution region with a highlighter or colored

pencil.
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Graph each inequality.
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Write the equation of this inequality.

Hh J=a

Write the equation of this inequality.
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Graph these two inequalities on the same graph. SBalionis

y <-2x+ 1 8x -6y >24
U= L&_‘éystem of Inequalities :

iy 4 = _Two inequalities on the
{,‘ ’ / same graph.
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Graph this system of inequalities:

y<-2x+3
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3x + 15y > 15
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Graph this system of inequalities:

y > 0.5x 4x - 8y > 16
t ey =—4X Ho
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Model this graph with a system of inequalities.
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Is (-4, 3) a solution to this system of inequalities?
> +5- v
y>2x+5 3 = ( 4>
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Basketballs cost $24 each and footballs cost $18 each.
You can spend no more than $144

You need at Ie% —-—Fbajls

1. Wille a of Ine ualltles to moédel this situation.
&3 =i =3

2. Graph this system of mequalltles

3. Find as many combinations of basketballs and footballs
that meet both conditions.






